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LB DRIHEEE
=] 17 (A) 18 (A) 19 (K) 20 (K) 21 (K) 22 (&) 23 (+)
BRI - - - - - - -

BmERast (m2) - = - - = - = _
TR (Um2 @) - - - - - - -
EEYANEZSDEHMER.79E-05 (&A) [5.51E-05 (BRA) [3.74E-05 (®A) [1.31E-04 (®A) [2.71E-05 (BA) [1.66E-04 (®|X) [2.95E-05 (®K)

128 (Bg/cm3) ** ND* (®Y) | ND*2 @) | NDP (®4Y) | ND* @Y | ND*P BV | ND*P @) | NDFP (B
=] 24 (A) 25 (A) 26 (XR) 27 (K) 28 (X) PLNE) 30 ()
RIS - - - - - - -

wmERAst (m2) - - - - - - - -
TR (Um2 - =) - - - - - - -
WESANE—HDEHMER.54E-05 (BA) [2.63E-05 (RA) [2.48E-05 (RA) [3.70E-05 (&AK) [2.67E-05 (BK) [2.74E-05 (®X) [2.43E-05 (]K)

(Bg/cm3) ** ND*3 (V) | ND*° &)Y | ND*° @Y | ND* &Y | ND*P By | NDF (&)Y | NDFP (@)
=] 31 (B) 1 (A) 2 () 3 (K) 4 (K) 5 (&) 6 ()
BRI - - - - - - -

WERAS (m2) - - - - - - - -
TR (Um2 @) - - - - - - -
EEYANEZSDEHME[2.39E-05 (RA) [2.50E-05 (BRA) [3.33E-05 (RA) [3.84E-05 (&A) [2.94E-05 (BA) [1.81E-05 (®|X) [2.02E-05 (®K)

(Bg/cm3) ** ND* (®Y) | ND*2 @) | NDP (®4Y) | ND*P @Y | ND*P BV | ND*P @) | NDFP (B
=] 7 (B) 8 (R) 9 (K) 10 (XK) 11 (K) 12 (&) 13 (%)
RS - - - - - - -

BmERAst (m2) - - = _ = = = _
PR (L/m2 - @) - - - - - - -
WESANE—HDEHMER.40E-05 (FA) [3.25E-05 (BA) [3.24E-05 (RA) [2.86E-05 (&A) [2.91E-05 (BK) [2.66E-05 (RX) [3.05E-05 (F]X)

(Bg/cm3) ** ND*3 (1Y) | ND*° &) | ND*° @Y | ND* &Y | ND*P By | NDF (&)Y | NDFP (@)Y
=] 14 (A) 15 (A) 16 (K) 17 (K) 18 (K) 19 (&) 20 (%)
BRI - - - - - - -
18| pmm#East (m2) - - - - - - - -
TRgE (L/m2 @) - - - - - - -
EEYANEZSDEHMER.54E-05 (BRA) [2.37E-05 (BRA) [2.79E-05 (®A) [3.20E-05 (FA) [2.46E-05 (8A) [3.18E-05 (®X) [2.53E-05 (®K)
(Bg/cm3) ** ND*? (V) | ND*2 @) | NDP O (B4Y) | NDFP O @)Y | NDFP (BY) | NDFP @) | NDFP (B
=] 21 (A) 22 (A) 23 (R) 24 (K) 25 (K) PIED) 27 (¥)
RS - - - - - - -

wmERAst (m2) - - = _ = = = _
TR (Um2 @) - - - - - - -
WESANE—HOEHMER.82E-05 (BA) [2.53E-05 (BA) [2.14E-05 (®A) [3.70E-05 (&X) [4.02E-05 (BK) [2.51E-05 (B’X) [2.67E-05 (]’X)

(Bg/cm3) ** ND*3 (1Y) | ND*° &)Y | ND*° @Y | ND* (&Y | ND*P By | NDF &)Y | NDFP (@)Y
=] 28 (A) 29 (A) 30 (K) 31 (k) 1 (X) 2 (&) 3 (b)
BRI - - - - - - -
WERAS (m2) - - - - - - - -
TREE (Um2 @) - - - - - - -
RS NEZHDFHANE 2.39E-05 (FK) 14.29E-05 (8K) [2.99E-05 (&X) - (]&X) - (8&K) - (&K) - (8&K)
(Ba/cm3) *? ND* (V) | ND*2 @) | NDE (B - (&) - (&) - (&/)\) = (&/)\)
X1 PYIEUNE (RIESERT. VFEEICHIT TR X2 REDEHY X NEZYEHAME(LRRE %3 ND=FHkit SERR308E1H31 8=

X4
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4 ARL—F« >0 TO7 D&Y A NEZYDHAE (354) T=PCO

EBAEE G|
B 28 (H) 29 (A) 30 (N) 31 (K) 1 (K) 2 (&) 3 ()
BT Bl - - - - - _ _
18| gmmE@ast (m2) - - - - - - - -
FHMEE (/m2- @) - - - = - = —
B NEZSOIANE2.39E-05 (BRA) [4.29E-05 (&K) [2.99E-05 (§A) [2.30E-05 (B]A) [2.64E-05 (]&K) P2.42E-05 (§/K) [2.90E-05 (]A)
(Bg/cm3) *? ND* (&) | ND &Y | ND*2 &Y | NDFP &Y | NP (&)Y | NDF &Y | NDFE (&)
=] 4 (B) 5 (B) 6 (N) 7 (k) 8 (K) 9 (&) 10 (%)
BT Sl - - - - - _ _
B EEATT (m2) - - - Z - - - _
PR (/m2- @) - - - = - = —
#HSY R MEZSOHANE[2.10E-05 (BRA) [2.65E-05 (&KX) [2.62E-05 (§/A) [2.57E-05 (8]A) [3.32E-05 (&]&K) P2.26E-05 (§/KX) [2.85E-05 (&]A)
(Bg/cm3) *? ND* (&) | ND O &Y | ND*2 &Y | NDFP &) | NDF (&)Y | NDF &Y | NDFE (&)
=] 11 (H) 12 (B) 13 (KR) 14 (K) 15 (K) 16 (&) 17 (£)
EGD e U= - - - - - _ _
B EEATT (m2) - - - Z - - - _
FHMEE (/m2- @) - - - = - = —
B NEZSOIHANE2.77E-05 (BRA) [2.45E-05 (&KX) [3.55E-05 (&A) [2.39E-05 (8]A) [2.15E-05 (§]&KX) [3.32E-05 (§X) [3.82E-05 (8]|A)
A (Bg/cm3) *? ND* (&) | ND &Y | ND*2 &Y | NDFP &) | N (&)Y | NDF (&Y | NDFE (&)
=] 18 (H) 19 (B) 20 () 21 (K) 22 (K) 23 (&) 24 (%)
BT Sl - - - - - _ _
B EEATT (m2) - - - Z - - - _
AR (/m2-E) - - - = = = —
BHSZ MEZSOIANE[2.17E-05 (B&A) [2.05E-05 (§]&K) [2.21E-05 (]|X) - (BX) - (BX) - (BX) - (8BX)
(Ba/cm3) *? ND* (B | NDF (&)Y | NDFE (&Y - (&)Y - (&/N) - (&/1\) - (&)
=] 25 (H) 26 (A) 27 (N) 28 (k) 1 (K) 2 (&) 3 ()
BT Bl - - - - - _ _
B EEATT (m2) - - - Z - - - _
FHMEE (/m2-E) - - - = = = —
EES R NEZ S DFTANE - (8&K) - (& K) - (&X) - (8X) - (8&2K) - (&K) - (&X)
(Ba/cm3) *2 - (&/\) - (&/IN) - (&/I\) - (&/)\) - (&/\) - (&/V) - (&/N)
X1 IR (IR, FREBICDT TR %2 RIEDEHS X MEZAEHANELRIRIE %3  ND=A & FERk30FE2H21HEF =

X4 BEAUMRREBTT 7 ICHEVER - (FERFE3HR T






